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KVS DIRECT RECRUITMENT EXAMINATIONS
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Roll Number

Name of the Candidate

Examination Name KVS PGT CHEMISTRY

Exam Date & Time 18-02-2023 09:00:00

Subject : GE_Q01-Q10_PGTCHEM
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) entering a house,

(b) saw a burglar

(¢) when the policeman

(

d) he ran and caught him

(1) (@) (b) (c) (d)
(2)  (®)(9) (d) ()
(3) (o) (b) (a) (d)
(4)  (d) (a) (b) (o)
Options:-

.1, Option ID :- 1,
« 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Why did your friend write such a nasty letter to you ?

(1) Why such a nasty letter was written to you by your friend ?

(2) Why is a nasty letter written to you by your friend ?

(3)  Why a nasty letter to you was written by your friend ?

(4) Why was such a nasty letter written to you by your friend ?
Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3, Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Fill in the blank with the correct preposition.

The wheel came the vehicle when it was negotiating a dangerous curve.
(1) out

(2) of

(3) off

(4) from
Options:-

.1, Option ID :- 9,
« 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

Choose the correct tense form from the given options.

I had finished my exercise when my friend came to see me.
(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect continuous

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
“I always take a cup of green tea in the morning,” my father said to his friends.

(1) He always took a cup of green tea in the morning my father told his friends.
(2) My father told his friends that he always took a cup of green tea in the morning.
(3) My father told his friends that he had always taken a cup of green tea in the morning;
(4) My father told his friends that he has always been taking a cup of green tea.
Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6
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Identify the part which has an error in it.
She discovered / to her horror / that she swallowed a fly / while drinking tea.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
« 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Identify the word nearest in meaning to the given word.

DERISIVE

(1) quarrelsome
(2) disdainful
(3) abusive

(4) decent

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Identify the word opposite in meaning to the given word.

MITIGATE
(1) float

(2) increase
(3) reduce
(4) expand

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

- 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9
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Identify the Part of Speech of the underlined expression.

Students should not while away their time in frivolous activities.

(1) Adverb

(2) Verb

(3) Conjunction

(4) Pronoun
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

Hurrah We have won.
What punctuation mark should be used after “Hurrah” ?

(1) Colon
(2) Mark of interrogation
(3) Mark of exclamation
(4) Semi-colon
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTCHEM

Question ID:- 11

Frefafan T ® Smyds TeH U ST W9 1 W@l S g

TR 73§ famr =1 fomi 9 € | fasra I9=n-F 1 8T 1 U WS ©i 91§ € WY 8 5w
ST ST ohl T T © | SISHTR ok 39 USHIR i qerel o for, Tefomi 797 a9 & 78y
Teeel FAM & folu eTevaes SUHol & fasraHi &1 ey 33w € | faame 4 ax-ay & S9ged Tl i qelm
1 Wz famrTe €1 S o SraErdt Y ST 3eUE w1 SUNTET a% Tga o fawre ¥ e ferdt )

SRS, A 3T USRI 2 qars & folt 1 &td € 2
(1) ISP e S 2 |

(2) HIRR THEA F FFR A E |
(3) CIE¥H WK ¢Ed ¥ |

(4) FEER-YH & fEF9E ged §

Options:-
.1, Option ID :- 41,
« 2, Option ID :- 42,
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. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

Frefeafaa e 1 syEE Tee S SR W9 1 TEl SR Eie

=R A § famres =1 fasm vee € | famrm woen-ua i o w1 U ugE w9 8 6 Wy § e
ST ST ol T I © | SISHTR ek 39 USPIR i qerel & fo, Tefori 797 a9 & 78y
el = % o aTrevae Sl & famraE! %1 oy St € | faate Tra an-ay & SwEd W # aww
=1 HreAy famra § | = 2 SEErEt w ST 3eUig i SN q Uger o fame § "er fuewdt #)

o frefafea § O fraet sravrmast 1 g0 72 % €2
(1) RIS
(2) fevit
(3) Toame g gas-gafa
(4) TR sAferem
Options:-
.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13

Frfafen Teiw 1 SHYEE TgEy 3T ST U9 & el S S

TR 73§ famr =1 fa8 98 ¢ | fasrA Sur=R-v= & S %1 TS THE i 91 § & WY 8 o1 w
ST STATIFAST 1 | T FHLT | SRSHTR Jaa 79 USFIR i 9eirsl = fan, TefomE 107 5912 & 78
el = % o aTrEvae Ul & famreE! %1 ey St € | faate Tra an-ay & SwEd qe # aww
=1 HreAy famra ¥ | = @ SeErt w19 3eUig i SUNIEd q Uger § fase § "er faewdt 7

frefafad § 6 @ vee-m oW ©
(1) TSR — SR

(2) AEEEH - FAEAER

(3) SUHH - STIHIH

(4) HEHA - HER

Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14
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Treaferfad Ty #1 eryEE Yge S AU WeH 1 el Ser i

=R 93 H s w1 o mee ¥ | famrs weE-us i 7 w6 U W w9 § @ Wy § o
= ATFIFAIS 1 o T FHA T | SR Fash A9 USHIR T 7ol F forg, Tefomi a9 geie & o ey
el FAH o ToTU Tavae SUHTU & TamIg=i o1 &1 ISl ¢ | foame ara si-a9 & Iugad i & T
%1 T1ea faqras § | 2 = et w1 ST 3R FI YN q Ygar | foeiee § werra fHerd g1

o A9 e F SFFY ATFTYIF S & faeT # SEdt € 2
(1) =R =1 g & fag

(2) TEEER =EH * fog

(3) fo=a =1 %M & & fau

(4) W& EHI 9 HHEA @iE % e
Options:-

.1, Option ID :- 53,

« 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Frafafad e S SArds TgeHt SR ARG 999 & Fel 3 e

TR 73§ famr =1 fosi g € | famraA Sue-v= &t o7 1 Us e i O § € W g o
3T STAvRaIsT] ol ¥ TN A € | SASTIR & 39 AT i garst = g, Tefiml o107 5912 & o778
et g o foru eTraeae SuHl o fasEEl 1 a1y Serd! £ | foare ara sR-ay & Iugdd qiedt & aem
=1 HeAn g & 1 = 1 e ST e i SusE a9 yger | faw & e faer €

Tl o o % fasmal 1 oy sen & ?
(1) o s g

(2) SEYIEH ITFY Ha
(3) Vel S8 HeE

(4) F-HaH

Options:-

.1, Option ID :- 57,

« 2, Option ID :- 58,

. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16
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(D)

(2) STH el SE - Tded

(3) foam @ra - =

(4) 4 & fgd % amen - wd federd
Options:-

.1, Option ID :- 61,

« 2, Option ID :- 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

Frefafea o fof 9 aren e @ &

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Frefafad § qem wes 78§
(1) &=

(2) =i

(3) o

(4) wE

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19
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(1) 3<%
(2) S
(3) =l
(4) SIfFF

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20
Frefafes § g6 m #1 gfe 3§ o 2 -
(1) 3IfT=a = - F9

(2) THe=m o= - =

(3) YEwaTEE - H

(4) HeyarE® - Sl
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTCHEM

Question ID:- 21

Which of the following states in India does not have a bicameral legislature ?
(1) Bihar

(2) Maharashtra
(3) Andhra Pradesh
(4) Madhya Pradesh

Frfafed § 9w & %6 § T | fgwer faurdea 7= 872

(1) fe=r

(2) HER

(3) 3Ty W=w

(4) = U
Options:-

.1, Option ID :- 81,

@ Teachingninja.in



« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

Assertion (A) : The Government of India adopted the “waterfall” framework for policy making
during pandemic induced uncertainities since 2020.

Reason (R) : The ‘waterfall’ framework is a flexible approach to policy making which uses
feedback loops and real-time adjustment.

Choose the correct answer from the codes below :

(1) (A) is correct but (R) is wrong

(2)  (A)is wrong but (R) is correct

(3) Both (A) and (R) are correct and (R) explains (A)
(4) Both (A) and (R) are wrong

TR (A) :  9RA WHR A HgMR ¥ Io9=1 AFfe=asi & A a9 2020 § Hifa a9 & fag
‘AT WHEeh | SO |

T (R) : ‘arerhTe waas’ Hifa ftor F fou o s ugfa @ foud wieds 9y ek
{er-2rdy gaESH 1 w3 foran s &)

== feu TTu 2 9 W& ST =T HIS0

(1) (A) F& & 2l (R) 7o &

(2) (A)7@d @ SR (R) W8l &

(3) (A) I (R) EFT =& T TR (R), (A) F === ¥

4) (A) 3 (R) THT Terd €

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Which of the following kingdoms was not annexed by the East India company under the "Doctrine
of Lapse” ?

(1) Jhansi
(2) Mysore
(3) Satara
(4) Nagpur
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$32 Efea Al g By Hifd’ % qed Tew TSiendl i srfiier St TR e o ?
(1) @

(2 =
(3) HAW
(4) TR
Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Which of the following statements about mineral resources is incorrect ?
(1) Copper is ductile and a good conductor of electricity

(2) Aluminium is obtained from a clay-like substance called Bauxite
(3) Tinis a Non-Ferrous mineral
(4)

4) Hematite is the finest iron ore containing iron upto 70 percent

wfs gurE % 9 1 fefatag § 9 59 91 w9 ge 1w w2

(1) e yoree € IR foggd & g ©

(2) UegHifEm, Stege A gie S8 ueel & € §
(3) foT w& T dema @ ©

(4) THREZ UH IFW @6 o9 ¢ e 70 gfaed @e g ®
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25

The Limited Test Ban Treaty (LTBT) signed in 1963 banned nuclear weapon tests
(1) Only in the atmosphere and outer space

(2) Only in the outer space and underground
(3) Only in the outer space and under water
(4)

4)  Only in the atmosphere, outer space and under water
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o yfqeifera et 21
(1) <had IgHSE AR S saia
(2) <hae SR HafE S i
(3) ohed W SHANE R 9 % A=
(4) Had agHSd, S sfafie o U % =
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Hifeqa gdteron wfaey @ (wa & &t &), foew 1963 H gxmer foru w9, qemm] efemml & wiem &

Question ID:- 26

Among the following which metal is more reactive ?
(1) Copper

(2) Iron
(3) Zinc
(4) Gold

Treafafaa § 9 =F & arg e wfafwamia 82

(1) e
(2) i
(3) TSi=
(4 |

Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

(1) Mitochondria

(2) Golgibodies
(3) Ribosomes
(4) Nucleus

Which of the following is not present in the cytoplasm ?
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Hifvreh] o § Frefeafag § 4 @ sufted 967 2 & 2

(1) HEd=HIZa

(2) TSt A

(3) VESHMH

(4) H=®
Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

Who among the following players won the FIFA World Cup 2022 'The Golden Ball’ Award ?
(1) Kylian Mbappe

(2) Cristiano Ronaldo

(3) Lionel Messi
(4)

4 Ne ymar

I gee *Y, 2022 § ‘Tieed die’ 1 JEhR Heafaiega § 9 fFy fgarg! 5 sfiar?

(1) =feEa Jary
(2) Terfam IFeel
(3) Tt ded
(4) FFER

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar’ 2022 in Sindhi
1anguage ?

(1) Geeta Pradeep Rupani

(2) Kirti Pradeep Rupani
(3) Monika Panjwani
(4) Heena Aswani
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ot v § ‘ wfeed ereRreHl e qeRR’ 2022 frfafad § 4 g e J S ?

(1) e w<ig samof

(2) =ifd &g wumof

(3)  HifeRT dsfamoft

(4) @I SR
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Which of the following computer languages uses mnemonics ?
(1) High Level Language

(2) Machine Language
(3) Assembly Language
(4) C Programming Language

frefafed § 9 oF O Frge ofes  fiadit’ & wan S ¢ ?

(1) X oFd o

(2) I efrEs

(3) STHTEE oires

(4) i grnfH oS
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : RA_Q31-Q35_PGTCHEM

Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given letter - cluster series.

HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4) HWM
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TY w&! forered =1 =2 & S 61 7% SE-THE g@en H 4l Ued il S @ 3R e fow (2) W E o
HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

Six friends Anuradha, Abha, Manisha, Monika, Rashmi and Sulekha are sitting around a circular
table facing outside the circle (not facing towards the centre). Anuradha is neighbour of Manisha
and Abha. Anuradha is sitting third to the right of Monika and is second to the left of Sulekha.
Manisha is sitting third to the right of Sulekha.

Who is sitting immediate right of Monika ?

(1) Sulekha
(2) Rashmi
(3) Manisha
(4) Abha

BT Telrml, ST, ST, T, Hifen!, TR i Geian T JaeR Bl & =R SN (991 % &= &1 I 48
9 %) IR ! ST HE FTh Aal ¢ | ST, TA SR ST 1 TSI 7 | ST, | & Sl SR de
T T SR Gordn o S ST THL ¥ T AS1 g ¢ | AT, Yo o g S el 9 TWousl g ¢
T % THEH ST SR B d21 @ 2

(1) e
2) Wem
(3) o
(4) &I
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33
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‘B’ is to the North of ‘A’ and to the West of ‘C’. In what direction is ‘C" with respect to ‘A" ?

(1) North-East
(2) North-West
(3) South-East
(4) South-West

BUAFIWHE A C Fuftam 18 ', A i fre fesn B §2

(1) -
(2) S-ufT=H
(3) sfeor-gd
(4) =faro-gfe=m
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
« 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

You are given a question and two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question.

Q: Ayush and Ranjan are standing at a distance of 20 km. They start walking towards each
other. After how much time will they meet if they keep walking ?

(I) : Ayush and Ranjan walk at the speed of 2 km/hr and 3 km/hr respectively.

(II) : The speed of walking of Ayush to Ranjan is 2:3.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer the question.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.
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= ek e femn g fSrwes a1 see-(1) @R (1) fou e € ford et § o e € ) 98 foi
IS o & AYH F99 997 1 SR 34 & foe vata 28 2

Y Y SR {5 20 foR.Hl. 1 g W @S T 19 Uk gHL i ST T IF $Ud € | Al J1 gadt S W@
dl fera w93 oe w g § el ?

(1) : g &R 59 %aw: 2 fret e, ik 3 fomdt. /" &1 fa § 9era B

(1) : 2w 3f 5 = HY I 2:3 B

(1) 3Tehel HYA—(I) & U9 1 3T &4 o Tel At & Siafeh sichel F°F-(11) 999 1 I <4 & forg waie
T B

(2) 3Thel FYF-(I1) T U 1 IR S & T 7ATE B SEfR ARt HUE-(1) Y99 o1 3 o ok fae gEre
B A

(3) HUA-(I) IR FHUA-(I0), S T Ferert wed o1 39 & forw stavEe ¥

(4) HEAA-(1) AR FEF-(11), SH T Foee off ue =1 3 < % foae mafa 728 €

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 1, Option ID : -133

Question ID:- 35

In the following figure, the square represents lawyers, the circle represents judges, the triangle
represents girls and rectangle represents honest people.

14

\
\ 8\ 15
9 \ 13

20

Which number represents girls who are lawyers and honest but not judges ?

(1) 8

2 12
(3) 14
4 15
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frafafad s 9, 'wvi' @ @, ga’ o #, (Be aefEal @ iR Cemen’ dumer @ @
yfaffie & © ;

14

PN
12\ 8 \ 15
9\

20

13

FH G g@ 37 welRdl F1 9l € St shia i $urer € fohy o A #2

(1) 8
2) 12
(3) 14
(4) 15

Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCHEM

Question ID:- 36

Gagan Sen is planning to buy a new smartphone, which one of the following aspects should he not
be bothered about ?

(1) Operating system
(2) Ethernet Port

(3) Internal Memory
(4)

4 Camera Pixels

T | Tk T4 T T &t A1 =1 @1 ¢ | 39 fefafed 3 9 feg vee o ai § = 781 &
=fgu ?

(1) R o=y

(2) ZYTHZ U2

(3) Eed HAERI

(4) &y
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,
. 4, Option ID :- 144,
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Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
on a PC/a laptop ?

(1) PS2
(2) USB
(3) VGA
(4) HDMI

Toret ot #t / oigeiy W3R el Aifed-difed] A3eye il Hee w1 & fay Faifas Suga 91 &I @
g7
(1) ot TH 2 (PS2)

(2) 4 7TH s (USB)
(3) @ St T (VGA)
(4) TS WA IME (HDMI)

Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

is not a basic function of MS Excel.

(1) count()

(2)  sum()

(3) min()

(4) multiply()

_ TH U T F gHEE BRE (functon) TR
(1) count()

(2)  sum()

(3) min()

(4) multiply()
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150
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Question ID:- 39

is the file extension of an Excel file ?

(1) excel

(2) xel

(3) xlIsx

(4) xelx

fordt Tae wIRE %1 WEd faEr (file extension) T 7

(1) excel

(2) xel

(3) xlsx

(4) xelx

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
« 3, Option ID :- 155,

- 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following is not an example of RDBMS ?

(1) MySQL
(2) ORACLE
(3) CALC

(4) IBM DB2

frafafad 5 3 # 91 9R 2 & t9 18 (RDBMS) &1 Teh a0 721 & 7

(1)  MySQL
(2) ORACLE
(3) CALC
(4) IBM DB2

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTCHEM

Question ID:- 41
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The ‘cephalo-caudal’ principle status that development of the body spreads from :
(1) legs to head

(2) heads to legs

(3) the center of the body outward

(4)

4 outward to the center of the body

‘Ttrel witee’ fagia =g s © T vl = fas eIl B
) T fm el

2) T W& &R

) IR % HEA S # R

) ERH YR o HEY i AR

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

In the context of puberty, which one of the following is an absolutely correct option ?
(A) Estrogen and Progesterone are female sex harmones

(B) Androgens and Testosterone are female sex harmones

(C) Entrogen and Progesterone are male sex harmones
(

g

) Androgens and Testosterone are male sex harmones

(1) (B) and (C) are correct.
(2) (A) and (C) are correct.
(3) (A) and (D) are correct.
(4) (B) and (D) are correct.

ARy F e #, frefafes § 9 #F-w fawey favga w82
(A) TEEH iR HegH He d9 gl €
(B) TUSISH IR TR HIgl U g €
(C) TS IR UeEH R 999 wHE §
(

(1) (B) 3R (C) Tl T |
(2) (A)#R (C) T &
(3) (A) ¥R (D) W& €
(4) (B) ¥R (D) @&l 1
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Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

A teacher observes that his students are taller and heavier than before. On the part of the students,
it shows their

(1) growth

(2) maturation

(3) development
(4) morphogenesis

Te 3AF I ST § 5 3% 215 Usel Hi 708N @d 37T g9Her €1 2 i R ° U8 TR/

I g9l I
OB

(2) uftgsEm

(3) fowm

(4) HET-fawE
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

Which of the following is the correct options ?

(1) Learning and maturation are two processes through which growth occurs

(2) Progress and maturation are two processes through which growth occurs

(3) Maturation and learning are two processes through which development occurs
(4) Development and learning are two processes through which maturaion occurs

Frefafas § | 91 fawe @@ 22

(1)  efenmg 3R ity <1 witrand ¥ fomes meag & gfg St 21
(2) wrf oiR ftgeen € wfrard § foae mem & gfg 3t 7

(3) ufagsm eir eifirm 9 wfrard € foms o 4 fasm 2 8
(4) T v sifirm <) ufsrand € foeek mrem 4 aftesa 2 2

2

Options:-
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.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

Which one of he following studied the child’s responses to moral dilemmas ?
(1) Piaget

(2) Erikson
(3) Kohlberg
(4) Skinner

Trefafas § 3 e g &1 Afaw gfeneti 9 ufafe 1 s1em fran ?

(1) o=
(2) TREET
(3) =hrera
(4) &R
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46

The cognitive aspects of the personality of an individual do not include his/her :
(1) motivation

(2) thinking

(3) attention

(4) perception

foredt =afaa & =afadea & HamHs T8 H ST miga &l 1
(1)  safgom

(2) fo=m

(3) 3T

(4) UoIel Ay
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
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. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Read the following :

(A) Among boys and girls, different parts of the body grow at same rate.

(B) Among boys and girls, same parts of the body grow at different rate.
(C) Among boys and girls, different parts of the body grow at different rate.
(D) Among boys and girls, same parts of the body grow at same rate.
Which one of the following is the correct option ?

(1) (A) and (D) are correct.

(2) (B) and (C) are correct.
(3) (C) and (D) are correct.
(4) (A) and (B) are correct.

Tefafaa 1 dfeu

(A) e AR wefFA H IR & - o o & ) W faefad B ¥
(B) <l IR el 8, IR & waw o fu=-fa=r <x w2 faerfam €@ €
(C) el iR el §, s & fum-fu= e fam-fs 5 w fassfaa @@ &)
(D) ol IR wreferal o, YR F |q9M i1 g &8 W fowiag & €
Frfafes § & & @ fawer w8 T

(A) 3R (D) T& £

(B)afn( Q) w&t €1

(C) i (D) W&l &1

(A) 8T (B) W&l 1

2
3

(
(
(
(4

)
)
)
)

Options:-

.1, Option ID :- 185,
- 2, Option ID :- 186,
. 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Pre-school children trust on their parents as a secure base to explore the environment. This shows
their

(1) cognitive development

(2) social development
(3) emotional development
(4) moral development
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T -qd s1eTeh aiarEy ] WIS o fe 279 9ar- (o] 9 U gLiem SHATER o €9 H fava & 8 | 98
FHT gefan Bl

(1) HIAHS T

(2) HHIfSe feerm

(3) eI faed

(4) Ao fawmg
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

A teacher gives a problem to adolescent students that “X is taller than Y, Y is taller than Z then who
is the tallest’ ?

This teacher expects that this problem .

(1) is too easy for the students as it requires symbolic thinking

(2) can not to be solved by the students as it requires ¢ritical thinking

(3) can be solved by the students as it requires abstract thinking
(4)

4 should not be given to the students as it requi:_es concrete thinking

TS AT TR9iR oTEi &l TH avd adl g R ‘X, Y H @1 € AR Y, Z§ @l 8, ol Had e s g ?
TE FSATIF AT HAT 7 o T8y

(1) BE = fou &R mEe | Hifss g9d e fHaT & SEvasd

(2) O gRI A &I T ST gendl it 39 To steiramiess fefoe i stagaemal 2

(3) ©El gRI B fohal T Hehdl ¢ Hiifeh 35k fow ST f=a &l sTavaehal 21

(4) ol & TE fean s =fe FHifw wes fore o feam &6t savashar €1

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

in case of adolescents, the peers, parents and teachers have no influence on their :
(1) social development

(2) cognitive development

(3) physical development

(4)

emotional development
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Tl & Amel |, Geurfedl, Amar-fuar 3iR s1eu9es &1 3%

(1) @S ferers

(2) HaAARHF faemmE

(3) wRIfER T

(4) TS foeRrd
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

9T RIE 9WE TRl qed B

Question ID:- 51

The word adolescence has been derived from the word “adolescene” which is a :

(1) Latin word
(2) Greek word
(3) Japaneese word
(4)

4 African word

‘TS e o T 9 g T S

(1) wifes
(2) i
(3) S9!
(4) SR
Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

THT =T T U2 2|

Question ID:- 52

The socialization agents support an individual in :

(1) learning

(2) confirmity

(3) communication
(4)

4) growth
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TSIt e fordt =afa =1  HgEd i 2

(1) saferry
(2) SI{&qdl
(3) HIw"
(4 s

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Socialization helps an individual in establishing his/her :
(1) self-identity

(2) social identity

(3) group image
(4)

4 community idenﬁty

grarsiie frdt = it sqh/39h! nfid 3 O GEdl il ¢ |
(1) =-9g9H
(2) HmISTF gg=E
(3) R Bl
(4) HHA TEEH
Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

‘Shiksha Karmi Project’ of Rajasthan is :

(1) the name of professional development programme of school teachers

(2) concerned with identifying outstanding contribution of school teacher in education
(3) scholarship programme for meritorious pre-service teachers

(4) a way to ensure community participation in formal education
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TSTE il foren T s @

(1) el AT & Ve faer Hdswy #5198

(2) Toen T Tha 12T * IEhE AFRH S UgTH Hi ¥ Hafud
(3) HerEt Har qE ekl & fau eEEih wEEe

(4) i e H aqem =) ariert gifed w6 & o ol

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

In India, home schooling is recognized by :

(1) NIOS
(2) CBSE
(3) IB

(4) ICSE

aRd = H 8w 27 (8 Shfen) =1 g g1 56l e &1 Sl © 2
(1) T30 3L.TE,

(2) HiETHE
(3) e
(4) SAEHLTEE
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PGTCHEM
Question ID:- 56

Which of the following statements is not true about curriculum ?

(1) Curriculum is a complete set and very broad in nature.

(2) Cuarriculum includes the planned and guided learning experiences.
(3) Curriculum is descriptive in nature.
(4)

4) Cuarriculum is framed by high level educational experts.
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TeEEEl & 9N H ST H FUT g8 e § 2

(1) weT= T S0 §2 ¥ a9 fasgd @Ey # g1

(2) wrEFEA ¥ derag s fRRE st sy e 2@ )
(3) URHEAl VIS TEET H A ¢ |

(4) urFEA I TR % Siferer fagreoi grI SR fE S R

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the following is not commonly used approach for curriculum development ?
(1) Subject centred approach

(2) Community centred approach
(3) Child centred approach
(4) Life centered approach

urez=al faem o frefafas § 9 #F 9 sur &1 AmdR w91 T8 R S g ?
(1) Towa-—sf=a sgrm

(2) HHSE-hi=d IURTH

(3) @RI-3hf=d SqrTH

(4) SfreF-shf=d 3arm
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 4, Option ID : -228

Question ID:- 58

Which one of the following is the key to Competency Based Education ?
(1) Acquisition of skill (s)

(2) Learning at one’s own pace
(3) Immediate feedback
(4)

4) Mastering learning
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Frefafaa § 9 @ gerar smenfia fren =) fagmm §2
(1) I ST e

(2) T=E I fd § HiEA

(3) dchIel ThiSdh

(4) e ST
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

‘Assessment as learning * is :

(1) TPartially teacher controlled
(2) Entirely teacher controlled
(3) Partially student conftrolled
(4) Entirely student controlled

" SAfrT o w9 H e T
(1) ifyer ®9 § s1eames

(2) quirEn SFeEes % frEta

(3) iferr B 9 o A

(4) guiTEn B bR
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

new knowledge from the familiar environment ?
(1) Text book

(2) Integrated text books

(3) Exposure to ICT
(4)

4)  Exposure to real life situations

Which one the following can be most useful in developing a habit among children to search from
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BEI g1 Uit SEEy H We U F9 9 @S 5 i Aed fasiad e | faefafe 9 9 @ gaifas
IUET 2

(1) YA-T&=*

(2) HHfRT dET-&Th

(3) 3% I 3 F TEEH

(4) andfaes Sfiad =i el =t sEsi
Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Main limitation of Computer Assisted Instruction (CAI) is that :
(1) TItis a self learning technique.

(2) It uses mix of text, graphics, sound and videos.
(3) Its learning is too mechanical.
(4) it provides immediate feedback.

gl T LT (H T &E) i g wrHl TR § T

(1) 98 T F-AfFm qohis gl

(2) =% 9IS, Uiither, e i difew 2 (39 o1 W& 2 € |
(3) THH fepmy stefus weft 8

(4) F€ AehTel higed YSH Hial €

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

Which one of the following is not a characteristic of a teacher made test ?
(1) Norms are available for comparison.

(2) Helps identifying learning difficulties of pupils.
(3) Can contain variety of items.
(4) Covers limited number of competencies.
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Trefefad o | = e ffta gdem 1 o faemd 7@ @ ?

(1) T & fau geee sueey g1

(2) BE I AT Ge wieAgd ®l UgEE HH H Her € |
(3) =EH %2 TE % v gfmfea & wed ¥

(4) Hifga |0 o D H1 Fe FE

2

Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

Which of the following may not be a part of strategy for preventing indiscipline ?
(1) Adoption of task oriented approach

(2) Provision of a long list of restricions which you expect to maintain
(3) Evolving rules through discussion with students
(4) Praising/ Appreciating students for their good achievements

Treferfed o & = STRETEa § == %1 T =l Uk 90 & © 7
(1) =EFE 3UFTH =] ST

(2) wiasHl =it wr oot gt w5 yeee o s we e ¥

(3) ®E % WY ==l Lk TIH FA

(4) SEI H 7= SyaAlerdl % fau 3! g

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

Which of the following classroom practice is not an outcome of Behavior modification approach?
(1) Repetition without reinforcement does not enhance learning.

(2) Punishment is very effective for eliminating undesirable behavior.
(3) Interest in work and improvement is conducive to learning,.
(4)

4) Variations in presenting the reinforces help modification of behavior.
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Frefafead § @ A o Fan o SHaer aiEdd SUFH 1 Uk 9o T8 @ 2
(1) e & forn ggha @ siferm § ofg 76 &t €1

(2) SIS SAFER H U FHH F AU < FHR gt

(3) Rl H w9 AR GuR Aferm & Tae T8 2l 2|

(4) YFEeE 37 H SEee | SHaer uiEdd ¥ werd faed

Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

Which is not a characteristic feature of course delivery in “teacher centred approach’ ?
(1) Use of lecture method

(2) Summative tests

(3) Active learning
(4)

4 No unit plannjng and unit test

‘ srerTaes higd SURE’ | fawa M o1, T =iRiEeER 91, SiE | q6 o 2

(1) =areAr faft = g

(2) FARTRHE L&

(3) wfsra srfrm

(4) oIS THTS AT ST1T TRTS URIE0T e
Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

Read the following carefully :

(a) Students are working individually or in small groups.

(b) They are busy analyzing the identified theme within a pre-set time limit
(c) They are dealing with ‘real life’ problem.

Which method of teaching-learning is being followed ?

(I) Problem solving method

(2) Project method
(3) Discovery method
(4) Play way method
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Frafafaa %1 =mgEs afeu

(a) B AT EY Y YT B T H FH W @ T

(b) d AvET foua-awg o U gd-Fuifa gam-dim & e fagew &3 § = 2
(c) o '‘=mfass Saq’ i HHEe & T R W T |

foreror-aifepmm =t & fafy sroarh s @ €2

(1) FoE-gaEE fafy

(2) i fafy

(3) @ fafy

(4) w4 fafy
Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Which of the following restrictions will not be effective in making an essay type item as restricted
response item ?

Restriction to be imposed on :

(1) Length of response

(2) Content of response
(3) Duration of response
(4) Convergent thinking

T freurees 9v9 =i U Hifga gfafea w99 s9@ |5 %49 9 gfaey gaEt T8 @i ?
ey fore o e s ?

(1) wfafsean =t dem .

(2) gfdafsran =t fawa-asg ©

(3) ufafsean =i aafy

(4) AfER Fo @

Options:-

.1, Option ID :- 265,
- 2, Option ID :- 266,
. 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68
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Which one of the following is not a characteristic of “integrated teaching” ?

(1) Flexible student groupings

(2) Inflexible schedules
(3) Sources that go beyond textbooks
(4) Relationship among concepts

freafafas § § @ o ' wifea e’ =) v fodmar 7@ & 2
(1) or=ien 3 J98

(2) IR FEw

(3) - H T EA

(4) Hehouiedl o &9 Hay

2

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69

In the final analysis, the key to motivation in classroom is :
(1) The interest inherent in the subject matter

(2) The teacher’s personality and his/her teaching method
(3) The emotional climate of the classroom
(4) The suitability of curricular experiences in the class

sifem Forveaw §, e § AREET ) e e E

(1) Taa-a%g # sfafifea w9

(2) HEAIYH w1 AR iR FEeh! e fafy

(3) eI T EACHSF STTET

(4) &l H YreHEal Hail ST9El TR
Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70
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Aptitude Tests measure :
(1) Potentiality

(2) Proficiency
(3) Likely success in a profession
(4) Achievement
SAfTsla Tdiefor 919 §
(1)  Hyred
(2)  9ETEr
(3) Terddt 991 H Hufad wwerdn
(4)
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCHEM

Question ID:- 71

By following, which one of the actions, a school can act as a ‘learning resource’ for community ?

1) By organizing educative movie shows in community

(2) By nominating teachers as members of all local civic bodies
(3) By organizing ‘discussion camps’ on social issues in community

4) By inviting community people in science exhibitions in schools

94§ 9 9 for &1 S99, T Shel 9™ & fau ' siferm &’ o9 |ehar 8 7
(1) THe § A feew o sEifsiq 3

(2)  Heit T el o foeerl o ATHifed sk

(3) wHer | wrfsish Hei W == wE’ St

(4) HHEE % AN ol Ehel | o det | b s

2

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72
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How a community can contribute best to school as a ‘learning resource” ?

(1) By selecting its best persons from all vocations to interact with students and teachers
(2) By effectively participating in P.T.A. meetings

(3) By donating generously for school development

(4) By providing free of cost, best technicians to build school labs ?

U G faame @ ‘e B’ F v H dner e geR € 9§ 2

(1) 9t =raEEl 9 g & 9afa # faenfefEt o) foerenl & @y STt safea gr
(2) Afsree foes deel | garEt wEieH g

(3) Tl % foehT ¥ SeRAT {@F S ST

(4) Thol i FENRIETS 1 99H &g ek I53qn qeHiRl Al 3R

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

As per WHO which one of the following is not an indicator of sound mental health ?
(1) Sense of Coherence

(2) Optimism
(3) Sense of Control
(4) Confidence

forge Tarees TS % IER e THTHe TR 1 i §1 Asl T8 @ 2

(1) g&fd = 93

(2) HARMETE

(3) T i wHg

(4)  sTrcHfZETE
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74
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How many types of disabilities have been identified through RPWD Act, 2016 ?
(1) 18

&
3)
(4)

3R b =g 2 TF (RPWD) 2016 7 fohas y&R =i SAamaiedi =1 = ?

(1) 18
(2) 19
(3) 21
(4) 23
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
. 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

Which one of the following member of school development planning committee is likely to contribute
minimum ?

(1)  District inspector of schools

(2) Manager of an adjoining industry

(3) Parents of school children
(4)

4) Professors of a nearby college

e faepra fersm afafd &1 f= 3 8 FF-9 959 8§ 9a9d &8 90 i §9e 82
(1) Toen fammem s

(2) THeRe & SEM & yEEF

(3) Fpedl w=Al <k AfHuES

(4) TeRe & wETfermmerd o YHEt
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 76
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Which one of the following can provide a good school leadership ?

(1) A teacher who has a mastery in communication

(2) A teacher who involves learners and seeks their partnership even in teaching
(3) A teacher who recently passed a course on school leadership with distinction
(4)

4) A teacher who was elected as president of teacher association

99 1 9 SH-91 Uk el ol 953 g U L Gehdl & 7

(1) T forerr < |@9oo § 283 ©

) U fonerr S stfaraeRdiell sl YTIGRT ST § IR 3% foer &l o off wnfe e ©
) u foems o T § € e Tge R fav i | e oy fwe @

) e forarer S ek afteg o sreas 9 TR ©

(2
(3
(4
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,

. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the present school scenario which role is generally not expected from a school teacher ?
(1) Curriculum designing
(2) Reflective practitioner
(3) Team builder and initiator
(4)

4 Coach and mentor

AT T i geral 8 g T § § g ufte # e e 3 s 18 w6 St §2

(1) grer=El fEi
(2) o ol & &
(3) ST ST ST FEATT HEA
(4) I AL IE TE
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78
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The best role of a school teacher as a coach is reflected in the act of
(1) Curriculum planning

(2) Preparing students for examination

(3) Story telling
(4)

4) Evaluating student’s performance

U F19 & ® ° AHTE Hi Feeqy e fred feadt §2

(1) = i d

(2) T I e I ARl w §
(3) e A H

(4) BEI ! T o qedisd |
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

Ms. Nair, the language teacher was told by her Prineipal, ‘Our education minister has come through

this new technique of evaluation and he wants us to implement it immediately.” This is an example
of :

(1) Demonstration Model

(2) Grassroot Model

(3) Administrative Line Staff Model
(4) Activity Model

o1 Toieser g Al PR =6 3k W A e, g fen w3l 6 i i 3w R fafy &1 v =en g siR g
=ed € 5 0 o doke ] | T8 R Sserm R 2
(1) Y gfaqm =1

(2) EEErd WiaHE H

(3) e W wfaae w6

(4) Tfafafy gfqem =
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80
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The most suitable stage to develop analytical and critical thinking among students is :
(1) Primary level

(2) Middle school level

(3) Secondary school level

(4) Senior secondary school level

B ¥ faveraues: a9 g e fasiad i 8 Saitds Iuge W 18 ?
(1) wrafer @he &1

(2) fafest &pa ww

(3) HEAHF B ®\W

(4) A grEAfgs ol Wl
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

- 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : CHEM_Q81-Q180_PGTCHEM

Question ID:- 81

Arsenic (III) sulphide reacts with oxygen to form arsenic (III) oxide and sulphur (IV) oxide :
_As, S +_ 0, = _AS,0, + SO,

What is the coefficient for O, when the equation is balanced using whole number coefficents ?

(1) 5
2 7
3) 9
4 11

HEA® (1) FoFES, FHEE (111) HAFEEs Al 9eR (V) ATEES 999 & fau siesy & @y
yfafsean & @ ¢

_As$, Sy + 0y — _AS, 04 + _ S0,

O, AT T[urieh 1 @ S7al §9 HHIHT <l Y01 H&AT [Uehi =l WART Shileh Hferd a1 il 8 ?

) 5
(2) 7
(3 9
(4 11
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,
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. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

When FeCl, is ignited in an atmosphere of pure oxygen, the reaction that takes place is :
4FeCly(s) + 30,(g) — 2Fe,04(s) + 6ClLy(g)

If 3.0 Mol of FeCl, are ignited in the presence of 2.0 Mol of O, gas, how much of which reagent is

present of 2.0 Mol of O, gas, how much of which reagent is present in excess and therefore remains
unreacted ?

(1)  0.33 Mol FeCl,

(2) 0.67 Mol FeCl,
(3) 0.25 Mol O,
(4) 050 Mol O,

S FeCly i Y% SRS o araRol § Yeafeq a1 s g, @ S gfdafm edi e a8 @
4FeCly(s) + 30,(g) — 2Fe,04(s) + 6CL(g)

7fe 2.0 HiE O, 19 1 Ukl § FeCl, % 3.0 Hia & ysafad a1 s 8, a1 fore sfuesss =t fra
arfereh & iR gHfeTY 5% SfafRg T 8 2

(1)  0.33 Mol FeCly

(2) 0.67 Mol FeCl,

(3) 0.25 Mol O,

(4) 050 Mol O,

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

Magnetite Fe,O,, is a mixture of iron (II) oxide and iron (III) oxide. What is the most likely ratio of
iron (II) oxide to iron (III) oxide in magnetite ?

1) 1:1
2 1:2
3) 2:3
4 3:2
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UL, Fey0,, A (I1) HFEES AR AR (1) HFHES F g0 €| HieEe § AP (1) HFEe 8§
A (110) e 1 sifq Henfad ST =0 2

(1) 1:1
(2) 1:2
(3) 2:3
(4) 3:2

Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

Calculate the volume of 0.110 M Copper (II) nitrate solution that can be prepared by dissolving
33.29 g of Copper (II) nitrate trihydrate in sufficient distilled water.

The Molar mass of Cu(NO3), . 3H,O is 241.6 g mol ~ 1,

(1) 050 L
(2) 1251L
(3) 250 L
(4) 375 L

0.110 M =R (II) AEE faer@ =1 /B &1 A0 &L S g4« Efad i § 33,29 g W (1) EeE
ZrEaIESe Wi faet et A foran s Jehdl € | Cu(NO,), . 3H,O 1 HIeR Z9HH  241.6 g mol ~! & aWIeR
?

(1) 050 L
(2) 1.25L
(3) 250L
(4) 375L
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334

Question ID:- 85

The formula of sodium tungstate is Na,WO, and that of lead phosphate is Pby(PO,),. What is the
formula for lead tungstate ?

(1) PbWO,

(2) Pb(WO,),
(3)  Pby(WOy),
(4)  Pby(WOy),
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Hifesm S22 1§39 Na,WO, © 3R &g HEhe &l T3 Pb,(PO,), & | TS S22 &1 §3 11 &1 ¢ ?

(1) PbWO,

(2) Pb(WO,),

(3)  Pby(WOy),

(4) Pby(WO,),
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

An electron can move from one orbital of a hydrogen atom to another. In which transition will the
photon of highest energy be emitted ?

(1) 2p - 1s
(2) 1s — 2p
(3) 3s — 2s
(4) 25 — 3s

Ush SOIH SRSISH LAY o Ueh el § 8L 4l § Hd9ad +¢ ddl ¢ | fm dau § waifas = &
I Sedfsia g ?

1) 2p —1s
(2) 1s —» 2p
(3) B3s — 2s
(4) 2s — 3s
Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which electron configuration represents a violation of Hund's rules ?

(1) 11 11 11111

(2) 11 1L 1111

(3) 1L 1L 1L1L 1

@ |1l {1 (1] 1
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% o sereR fam g & fradi 3 Seoiem 1 e s &2
@ [1] [1u] [1]17]1

@ (1] (1] |||

@) (1] (1] |11 4

@ (1] (1] [1u] 1

Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

Consider the species gan, g;’As and g‘:ce. These species have the same number of :
(1) Electrons

(2) Protons

(3) Neutrons

(4) Protons and neutrons

gerfedi 227zn, 22As 3R 72Ge gt fomm et | 59 wenfadl § freiferd § § forgen! g aam €

30 r 33 32
(1) FerRM
(2) WRMA
(3) [
(4) T ST =gEH
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89
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What is the atomic weight of a hypothetical element consisting of two isotopes, one with mass
64.2 u (25%) and the other with mass 65.3 u ?

(1) 653 u
(2) 644 u
(3) 649 u
(4) 65.0u

Ueh Sheqeh tcdl fSiereh &) Hredifel H H T 64.2 u (25%) BeHHM a1l 31 g8 65.3 u FAH &le &l
TIHTY] YR T E ?

(1) 653 u
(2) 644 u
(3) 649 u
(4) 65.0u

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90

What is the frequency of light having a wavelength of 450x 10 8 m ? (Given: c=3x10® ms~1) :
(1) 284x10-125-1

(2) 210x10%s 1

(3) 4.29x10¥ 51

(4) 6.67x101° 571

450 %10~ 8 m qlmeed arel w1 srafe fradt et 82 (e @0 c=3x108ms™1)
(1) 284x10" 125!

(2) 210x10%s~1!
(3) 429x104 51
(4) 6.67x1015 571

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

- 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91
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When the acids H,5e, HBr and HI are arranged in order of increasing acid strength, which is the
~orrect order ?

L.

(1) H,Se < HBr < HI
(2) HBr<HI<H,Se
(3) HBr < H,Se < HI
(4) HI< H,Se < HBr

S 377 H,Se, HBr 3% HI o1 95l g5 77 WIfaa o A H orafed e S &, -9 39 9el § 7
(1) HsSe < HBr < HI
(2) HBr<HI< H,Se
(3) HBr <H,Se < HI
(4) HI< H,Se < HBr

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Which metal requires the least energy to exhibit the photoelectric effect ?

(1) Cs
(2) Ca
(3) Cu
(4) Hg

FRISHfaES TTd UEiEd % & fau fmm o1 1 9a8 &0 ol &) STeayEs 2l ¢ 2

(1) Cs
(2) Ca
(3) Cu
(4) Hg
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93
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Which group of elements is listed in the order of increasing boiling point ?
(1) Lithium, sodium, potassium

(2) Chlorine, bromine, iodine

(3) Sulphur, chlorine, argon

4

Zinc, cadmium, mercury

9 EU FEYAIH o HH W dcdl & (69 Y F YIS fomn T g2
(1) fafeem, wifeas, defem

(2) FERH, SHA, A

(3) HEH, FAN, HATH

(4) f® Fefggm, o=l

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

Which pair of atoms should form the most polar bond ?

(1) BandF
(2) Cand O
(3) OandF
(4) Fand N

WHA * fFE S =1 T A yd J69 99 ?

(1) BB3RF
(2) Cs3RO
(3) OS3RF
(4) F3ARN
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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The first five ionization energies, in k] mol 1, for a particular element, are shown in the table
below :

First Second | Third | Fourth Fifth
580 1,815 2,740 11,600 | 18,500

The element is likely to form ionic compounds in which its charge is :

(1) 1+
2 2+
(3) 3+
4) 4+

et T7a & f k] mol —! H wBa WTE AT T femE T ¥

Tgell T | e e
580 1,815 | 2,740 | 11,600 | 18,500

e o S T 9 &1 HaE g Sy swe e

1y I+
(2) 2+
3) 3+
(4) 4+
Options:-

.1, Option ID :- 377,
- 2, Option ID :- 378,
. 3, Option ID :- 379,

- 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

The arrangement of the atoms in the ammonia molecule at its lowest energy is described as :
(1) Trigonal pyramidal

(2) Trigonal planar
(3) Trigonal bipyramidar
(4) Square planar

STHE 370] H qeETsd s s Sl W egeR i 35 w9 H gftid o mm R

(1) Frepmia frufae

(2) TForpmf wEdeE

(3) Treeroiy fgfuufne

(4) = wHAE
Options:-

.1, Option ID :- 381,
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« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

In which of the following compounds would the molecules be expected to be linear ?

(1) O5

(2) SO,
(3) H,0
(4 CO,

Tore ifrer § STyl o TEita B9 =i STU&T i S Hehd! 8 7

(1) Oy
2) SO,
(3) H,0
(4) C O,

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

What is the hybridization of the S atom is SF ?

(1) sp
(2) sp’
(3) spd
(4) spid?

SF, H S XA k1 FHeHTT 1 7 ?

(1) sp
(2 sp?
(3) sp3d
(4) sp’d?
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391
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Question ID:- 99

One way of writing the Lewis structure of the cyanate ion OCN ™ is [O=C=N]~. What are the
formal charges on the O, C and N atoms, respectively, for the structure ?

(1) 0,0 —1

2 1,0,0

(8} ~1.+T =1
4 -2,1,0

HEE AT OCN -~ i T8 o= &l fa@y %1 & @i [O=C=N]~ ¥ §&=7 & fau 7% O, C
3R N W W et eme @ 7 2

(1) 0,0, -1
(2) 1,0,0
3 -1, +1, -1
4 -2,1,0
Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Which one of the following violates the octet rule ?

(1) PCl,
(2) CBry
(3) OF,

(4) AsFq

freafafas § 9 == e 99 =1 Sooigd 1 & 2

(1) PCl
(2) CBry
(3) OF,
(4) AsF,

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101
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All are state functions except :
(1) Pressure

(2) Heat
(3) Free energy
(4) Enthalpy

forgeh! Brest gufl o7asel werd (22 BRH) § 7

(1) =94

(2) g

(3) e Fsil

(4) T (ol 3sA)
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Calculate the bond energy of the B-F bond in BF5 (boron trifluoride) gas :

AH? of atomic B=134.5 kcal/mol
AH! of atomic F=18.86 kcal/mol

AH? of BFy=—271.75 kcal/mol

(1) 97.7 kcal/mol

(2) 116.6 kcal/mol
(3) 1354 kcal/mol
(4) 154.3 kcal/mol

BF; (SIRIF ZEWIREE) 9 H B-F 98 Hsil & U1 hiTeg |

WA B W AH[ =134.5 keal/mol
A F # AH| =18.86 keal/mol

BF; 1 AH, = —271.75 keal/mol

(1) 97.7 kcal/mol

(2) 116.6 kcal/mol
(3) 1354 kcal/mol
(4) 154.3 kecal/mol
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Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

- 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405

Question ID:- 103

Given the following standard enlhatpies of formation : CO,(g), —394 kJ/mol; H,O(l),
—286 kJ/mol; C,H,(g), 16.0 k]/mol, calculate the heat of combustion of one mole of C,H; if the
equation describing the process is :

C,Hy(g) + 60,(g) — 4CO,(g) + 4H,0()

(1) —2736 kJ]/mol

) —696 k]/mol

-2

(

(3) 696 kJ/mol

(4) 2736 kJ/mol

T2 i FA=fafEd gHE el € R §

CO,(g), —394 KJ/mol
H,O(l), —286 kJ/mol
C,Hs(g), 16.0 kJ/mol

C,H; F U HIel % e &1 o1 1 AT FL 3G GFH1 =1 9079 33 Frel FHisw &
CyHs(g) + 60,(g) — 4C0O,(g) + 4H,0(])

(1) —2736 k]/mol

(2) —69% KJ/mol

(3) 69 kJ/mol

(4) 2736 kJ/mol

Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

Determine the value of AG? (in KJ) for the following reaction using data from the table below :
2H,0(g) + Oy(g) — 2H,0,(g)

Substance AG® (kJ/mol)
H,O(g) —228
H,0,(g) ~105
(1) —246

(2) 666

(3) 246

(4) —666
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ugrel
H,0(g)
H,04(g)

(1) —246
(2) 666

(3) 246

(4) — 666
Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,
. 4, Option ID :- 416,

= & g wifere | Ter 1 SwE e Frefafad sfafen & faw AGe (g #) w1 am fauffa =)
2H,0(g) + Oy(g) — 2H;04(g)

Answer Given:- 2, Option ID : -414

AG® (kJ/mol)
—228

— 105

Question ID:- 105

states ?

(

(1) 421
(2) 946
(3) 1388
(4) 2838

(1) 421
(2) 946
(3) 1388
(4) 2838
Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,
. 4, Option ID :- 420,

How many k] of heat are liberated when 50.0 g of Mn(s) is burnt to form Mn,O,(s) under standard

3Mn(s) + 20,(g) — MnyOy(s)

Atomic mass (Mn) =55; AH? (Mn;0,(s)) = — 1388 k] mol 1)

T SFEEensll % d8d MnyO,(s) T & feT 50.0 7MW Mn(s) 1 St W foras kJ e g 2rdt 22
3Mn(s) + 204(g) — MnyO,(s)

(RHMY 2579 (Mn) =55; AH{ (Mn,O,(s)) = — 1388 kJ mol 1)

Answer Given:- 1, Option ID : -417
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Question ID:- 106

A saturated solution of MgF, contains 1.16 X 10~ 3 mol of MgF, per litre. What is the K of

MgkF, ?
(1) 2.7%10®
(2) 1.6x10~7
(3) 3.1x10~°?
(4) 6.2x10°?

MgF, % " faems § MgF, % 1.16x10~3 #ie wfd feret €1 €1 MgF, 1 K, 1 &7

(1) 2.7x%107°

(2) 1.6x10~°
(3) B.1x10?
(4) 6.2x107°7
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

Which will be the same for solutions of 0.50 M NH; and 0.50 M NaOH ?
(A) Concentration of OH™ ions.
(B) Volume of 0.20 M HCI required for neutralization.

(1) (A) only

(2) Both (A) and (B)
(3) (B)only

(4) Neither (A) nor (B)

0.50 M NH, 3R 050 M NaOH & faea i & e %= |1 99 2 ?

(A) OH ™A # digdl
(B) Sardirerul fAwured < ferw smafard 0.20 M HCI Rt A
(1) Fad (A)
(2)  (A) X (B) G
(3) I (B)
4) T (A) SdRTE (B
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,

@ Teachingninja.in



. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

For the reaction
2NO(g) + O,(g) = 2NO,(g)

the equilibrium concentrations at a certain temperature are found to be [NO]=0.10 M,
[0,]=0.20 M, [NO,]=0.30 M. The value of the equlibrium constant for the reaction at this

temperature 1s :

(1) 1.5

(2) 15

(3) 45

(4) 150

sfafsr & fag
2NO(g) + O,(g) = 2NO,(g)

T AU W Hger Higdl 918 ST §

[NO]=0.10 M, [O,]=0.20 M, [NO,]=0.30 M
39 999 W 39 wiafean = fau Sger feris &1 aH

(1) 1.5
(2) 15
(3) 45
(4) 150

Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

An aqueous solution of which salt would be expected to have the most basic pH ?

(1) Na,CO,
(2) NaC,H,0,
(3) NaCl

(4) NH,Cl
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Tohe @1V o STelty =iel sl Hay Sl o (9lF) pH B &l SHlG &l St ?

(1) Nay,CO,

( NaC,H;0,

(3) NaCl

(4) NH,Q
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

If 40.0 mL of 0.20 M CH3COOH are titrated with 0.20 M NaOH, how many mL of base must be
added to form a buffer solution with the greatest buffering capacity ?

(1) 5.0

2 10.0
(3) 20.0
(4) 40.0

Ifg 0.20 M CH,COOH % 40.0 mL %1 0.20 M NaOH % #19 21522 fohar Sl €, df sifeehan awiin &
1Y IR M o o, fad mL &R (319) ST =Jifey ?

(1) 5.0
(2) 10.0
(3) 20.0
(4) 40.0
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

In which pair does the named substance have the same oxidation number ?
(1)  Sulphur in H,S,0, and H,SO,

(2) Mercury in Hg?™ and Hgg+

(3) Cobaltin CD(NH3)3+ and Co(NO;),
(4) Oxygen in Na,O, and H,0.
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for 771  ifHa vered =61 siferdtem den 99 © 2
(1) H,S,0, 3R H,S0, H HeH
(2) Hg?* ¥R Hg ' Hum

(3) Co(NH,)Z" 3R Co(NO,), H Fidrwe
(4) Na,O, 3R H,O H ifarfisH

Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

What is the oxidation number for carbon in CaC,0, ?

1 0

2) +2
3) +3
4) +4

CaC,0, H e o feTu sAfedienton He =41 & ?

(1 0
(2) +2
(3) +3
(4) +4
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

Which of the following is a correct statement ?
(1) Oxidation is caused by a reducing agent.

(2) The oxidation reaction is a redox reaction.
(3) Addition of an electropositive element is a type of oxidation.
(4) Reduction is the addition of hydrogen.
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frafafes § 9 &9 91 UF Wi FH 8 2
(1) SATFHTHLO TT=7F T dTel Tsie 2 HRO S 2 |

(2) ifeRiteRTor yfafshan Tk Yeiay afafwan g1

(3) ToRIa eFTeTs oo W1 AR U YRR 1 STTaRITR |
(4)  STUFEA TLSISH A T

Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114

What is the coefficient for Fe>™ when the redox equation

Fe™t + MnO, + HY - Fe*"+ Mn?" + H,0 is balanced using the smallest whole number
coefficients ?

(1) 2
(2 3
(3) 4
(4 5
Fe2* o TeTu [uiieh o1 2 fel LSTeh HHIhu]

Fe?*+ MnO; + H" — Fe3"+ Mn?" + H,0

Had DI Yol Y@ U 1 TN Hleh dqford e 8 ?

1 2
2 3
(3) 4
4 3

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115
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Which one of the following statements is NOT correct for the given reaction ?
Fe(s) + CuSO,(aq) — FeSO,(aq) + Cu(s)

(1) Iron is the reducing agent.

(2) The solution turns green in colour after the reaction.
(3) Copper is a more reactive metal than iron.

(4) The reaction is an example of a redox reaction.

<t T whtfn 3 ferm Freferfiad § @ #F m Fe wE w2
Fe(s) + CuSOy(aq) — FeSOy(aq) + Cu(s)

(1) BT 9= 2|

(2) afufsran o g faer o1 1 &0 & S |

(3) ORI EIE Y gorn § erferer wfafsEemsicr g T

(4) wfafran, Yeme giafwan & v St 2

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

An aquous solution is 1.00 Molal in KL Which change will cause the vapour pressure of the
solution to increase ?

(1) Addition of water.

(2) Addition of NaCl.

(3) Addition of Na,SO,.

(4) Addition of 1.0 Molal KL

KI § U Seid 9t 1.00 gieia §1 foFg 9fiEde & %Rl fae@= o1 a1 g@ o9@ S ?

(1) = S

(2) NaCl %14/

(3) Na,SO, &1 M

(4) 1.0HEA KI &I AR
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117

@ Teachingninja.in



What is the molality of the Li™ ion in a solution prepared by dissolving 2.20 g of Li,SO,
(MM =110.0 g/mol) in enough H,O to make 50.0 mL of solution ?

(1) 2.00x10-2M
(2) 4.00x10-2M
(3) 0.400 M
(4) 0.800 M

Li,SO, (MM =110.0 g/mol) = 2.20 18 ! T4T< H,O H 50.0 mL =ie aH = e =ien & | dar fhy
MU H W Lit 3TE i HeaT 969 e 2
(1) 2.00x1072M

(2) 4.00x10=2M
(3) 0.400 M

(4) 0.800 M
Options:-

.1, Option ID :- 465,
- 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Calculate the Molality of a solution that contains 51.2 g of naphthalene, C;yHg, in 500 mL of
carbon tetrachloride. The density of CClis 1.60g/mL :

(1) 0250 M
(2) 0500 M
(3) 0.750 M
(4) 0.840 M

T Toerda ol HRETd & T 2 98 500 mL FeA ZEARES | 51.2 UMM THIEr Cyy Hg, WA B |
CCl, =1 = 1.60 g/mL &1

(1) 0250 M
(2) 0.500 M
(3) 0750 M
(4 0840 M
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119
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The vapour pressure of pure water at 85°C is 57.9 kPa. What is the vapour pressure at 85°C of a
solution prepared from 100 mL of water (density 1.00 g/mL) and 150 g of diglycine, C;HgN,O;, a
non-volatile substance ?

(1) 48.1 kPa
(2) 52.0 kPa
(3) 56.7 kPa
(4) 51.7 kPa

85°C W YH el %1 a1 a1 57.9 kPa i1 g1 100 mL ¥id (¥F@ 1.00g/mL) 3R 150 g SBEiew,
C,HgN,O5, T T aromsiiel ggrel § q9R fohu 70 Hid & 85°C O a1 =l Z91d #4117 ?

(1) 48.1 kPa
(2) 52.0 kPa
(3) 56.7 kPa
(4) 51.7 kPa
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

If 45 g of glucose, C H;,0,, are dissolved in 300 mL of water, what will be the boiling point of the
resulting solution ? (K, for water =0.512°C/m).

(1) 101.64°C

(2) 100.78°C
(3) 100.43°C
(4) 99.626°C

7f 45 UM TeHE CH,,Q, 1 300 mL St | el S, d 9ionHl fae =1 Faeis @1 81 7
(& % faT K, =0.512°C/m)
(1) 101.64°C

(2) 100.78°C

(3) 100.43°C

(4)  99.626°C
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

- 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121
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The standard reduction potentials for AP+ and Zn?* are —1.66 V and —0.76 V, respectively.
Calculate the Gibbs free energy change for the balanced reaction.

2Al(s) + 3Zn%*(aq) — 2A13*(aq) + 3Zn(s) (1F=96,500 C)
(1) —52x10°]

(2) —6.0x10%]
(3) +9.0x10°]
(4) +14x10%]

AR+ 3R Zn?+ % T A ST0=ae &79d HHe: —1.66 V 3R —0.76 V & | Sgfad ufafsw=n & fau fisg
TR Sl e i 0 Y |

2Al(s) + 3Zn%T(aq) — 2A1*T(aq) + 3Zn(s) (1IF=96,500 C)

(1) =52x10°]

(2) —6.0x10°]

(3) +9.0x10%]

(4) +14x10°]
Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

Which of the following statements about electrochemical cells is true ?

(1) Reduction occurs at the anode.

(2) An element with a high affinity for electrons is likely to be easily oxidized.
(3) Oxidation occurs at the anode.
(4)

4) Only oxidation half reactions are important.

TIFR R A Hell & & § fefafad § 9 ®H 9 e 9 82

(1) 9= TS T8 €

(2) TelEEHl o fou 3= enediadl ae Soiee o ST | SAfeRdieht 81 it HeT § |
(3) TS W R e

(4) Hae AR erd-yfafrad ey €

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123
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What is E° for the following balanced reaction?

Zn(s) + Pb2t(agq) — Zn2*(aq) + Pb(s)

Half-reaction Standard Reduction Potential
Zn**(aq) + 2~ — Zn(s) —-0.763 V

Pb2*(aq) + 2e~ — Pb(s) -0.126 V

(1) +0.637V

(2) —0637V

(3) —-0889V

(4) +0889V

Faf=fefas Hqfed feon & fau B0 1 82

Zn(s) + Pb>T(aq) — Zn>*(aq) + Pb(s)

31t ufaferar Hr=eh 3TU=E 70T
Zr?*(aq) + 2~ — Zn(s) —-0.763 V
Pb**(aq) + 26~ — Pb(s) ~-0.126 V

(1) +0.637 V

(2) —0637V
(3) —0.889V
(4) +0.889V
Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Identify the strongest reducing agent based on the following half-reactions :

Half reaction Standard reduction potential
MnO,(s) + 4H" (aq) + 2e~ — Mn?* (aq) + 2H,O(l) +1.22V
Hg,SO,(s) + 2¢~ — 2Hg(l) + SO, (aq) +0.61V

SnO,(s) + 2H,O(l) + 4e~ — Sn(s) +4OH ™ (aq) —0.95V
Cr(OH)5(5) + 3e~ — Cr(s) + 30H™ (aq) —1.48V

(1) Cr

(2) MnO,

(3) Sn

(4) Hg
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Frefafaa s fafrmeti & uR R yeedy T=EE & 89 Fifel, ;

a1k ufaferar Ureeh ITU=ra &9dm
MnO,(s) + 4H"(aq) + 2~ — Mn? " (aq) + 2H,O(l) +1.22V
Hg,50,(s) + 2e~ — 2Hg(l) + SO,2~ (aq) +0.61V
SnO,(s) + 2H,O(l) + 4e~ —s Sn(s) +40H(aq) —0.95V
Cr(OH)4(s) + 3e~ — Cx(s) + 30H™ (aq) —1.48V
(1) Cr
(2) MnO,
(3) Sn
(4) Hg
Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

- 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

What mass of nickel (atomic mass 58,7u) could be electroplated from a solution of nickel (II) chloride
by a current of 0.25 amperes flowing for 10 hours ? (1F¥=96,500 C)

(1) 12¢
2 55¢g
(3) 0.046 g
4 27g

e (1) FerEe & faere 3 Hae (W] 2599M 58.7 u) & fFE Z299E T 10 =2 @ &ed ara
0.25 TR =t &R g1 faregd ofoe foran < gehan €2

(1F =96,500 C)
1) 12¢g

(2) 55¢

(3) 0.046 ¢
4 27¢g
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126
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The first order reaction
ZNEO(g) —3 2N2(g) + O,(g)

has a rate constant of 1.3 x 101 s—1at 227°C and 6.5 x 10~ 105~ ! at 327°C. What is the activation
energy for the reaction ? (R=8.3 JK™ 'mol !, log,,2=0.30)

(1) 15 kJ/mol

(2) 30 kJ/mol
(3) 68 k]J]/mol
(4) 97 k]/mol

gy Hife i afafsr

2N,O(g) — 2Ny(g) + Oy(g)

# fom 227°C W 1.3x 10~ s~ 1 iR 327°C W 65x 10~ 101 mt =g feew 7
79 wfafsran % feau afao Sl #0182 (R=8.3 ] K~ !mol~, log;,2=0.30)

(1) 15 kJ/mol

(2) 30 KkJ/mol

(3) 68 KkJ/mol

(4) 97 k]/mol
Options:-

.1, Option ID :- 501,
. 2, Option ID :- 502,
« 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127

The rate of the reaction 2NO + Cl, — 2NOCl s given by the rate equation rate =k[NO]2[C12]. The
value of the rate constant can be increased by :

(1) Increasing the concentration of NO.
(2) Increasing the concentration of CL,.
(3) Increasing the temperature.
(4)

4 Doing all of these.

wfafsan 2NO + Cl, — 2NOCI Fi & 3 & HHIehT 511 &f T 2 |
=k[NOJ?[Cl,]

X Teri® =1 919 foreeh gR1 =@/ ST Heahdl § 2

(1) NO I Higdl s

(2) Cl, I Higdl s Ml

(3) TTIHE ST

(4) FE HI FHA

Options:-
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.1, Option ID :- 505,
- 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

The ionic reaction 31" + SEO? — 2907 +1,”
is found to be described by the experimental rate equation.
Rate = k[["][S205 ]
This suggests that :
)  The reaction occurs when three iodide ions collide simultaneously with one 5203— ion.
) There must be only one step in the overall reaction since the rate is first order in both reactants.
3) The rate of reaction is inhibited by the presence of I .
) A slow step in the overall reaction sequence may involve the collision of a single I~ ion with

a single S;_:.O_gh ion.

St GidlR 317 + 5,07 — 250 + 1, WP T gefier gry afvfa g S ¥
T = K[I7][S,05 ] | 6 e =rea 2 |

(1) wiafwan ae Bidl § 5T i SRS S UF 99 UF S,0; AT § 2 8 |

(2) Sy Yidfsran 9 Sheret Ush SN0 g1 SR il Sl ATHHRRD] H &1 JoH Hife

(3) I i sufeafq § fafwan %1 gL e gt 8

(4) TEy fafran svA § Th 419 Fen § T [ S &1 T szog‘ ST 9§ THT ITHA &1 Tehell
]

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129
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The rate equation of a reaction is given by
Rate=k[A]?

The units of k are :

(1) mol dm 3!

(2) dm’mol~1
3) s7!
(4) mol ldm3s—!

(1) mol dm 3!

(2) dm3mol~!
(3) &1
(4) mol~ ldm’s~!

Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

sifufsran =1 o7 FHIHTY 39 TehR fean S € st=k[A]2k =i SHE |

Question ID:- 130

Which of the following equations is not correct ?
(1) k=A exp(E,/RT)
(2) AG=AH-TAS

0
(3) AGy=-RTInK,

(9 T=pV/nR

Frefafaa § ¥ -1 SHiw 98 T 57
(1) k=A exp(E,/RT)
(2) AG=AH-TAS

o
(3) AG{=—RTInK,

(4 T=pV/nR

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131
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Which of the following electron configurations is correct for Nickel ?
(1) [Xe] 4s! 3d®
2) [Kr] 4s! 3d8
3) [Kr] 4s2 3d®
4) [Ar] 4s% 3d®

(
(
(
e % wedl ¥ fr=fafas § 9§ wi9- o[ fa=m w87
(1) [Xe] 4s' 3d®
(2) [Kr] 4s! 3d8
(3) [Kr] 4s? 3d®
(4) [Ar] 48 348

Al

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

Question ID:- 132

The atomic radii of Zr (145 pm) and Hf (144 pm) are almost equal because of :
(1) Their being isoelectronic.

(2) Their being isotonic.

(3) Lanthanoid contraction.
(4)

4) Higher atomic number of Zr as compared to Hf.

Zr (145 pm) 3% Hf (144 pm) &1 52919 B ey s € #9i :

(1) & Tz g

(2) o SEHEINTH &

(3) TUAEE HHH

(4)  Zr %1 ] HEE Hf T 31 8 2
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133
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Choose the correct option for Mn,0O,, CrO; and V,05 from the following :
(1)  Mn,O,, CrO; and V,0; are acidic.

(2) CrO, is acidic while Mn,O, and V,0; are basic.

(3) V,05 is acidic while CrO, and Mn,0O, are basic.

(4)  MnyOy CrO; and V,05 are all basic.

Frefafed § § Mn,0,, CrO, 91 V,0; % feru w2t fosrew =1 =71 e
(1)  Mn,0,, CrO; 3R V,0 3T/ig |

(2) CrO, 3TdATg § Selfeh Mn,O, 791 V,05 &R & |

(3) V,0 31itd § Sdfeh CrO; 3R Mn,O., &4 21

(4) Mn,O,, CrO; @91 V,0, 94 &g 1

2

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

The formula of the deep red liquid formed on heating potassium dichromatie with KCI in
concentrated sulphuric acid is :

(1) CrCl,
(2) Cro,Cl,
(3) CrO,

(4) Crso,

% TeRIe 277 H Wi e il KCl % @Y TH it T 994 a1l Ted ol 69 H1 YA ¢ -

(1) CrCly

(2) CrO,Cl,

(3) CrO,

(4) CrSO,
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135
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The magnetic moment of Cr2t is :

(1) 2.85 BM
(2) 4.40 BM
(3) 5.92 BM
(4) 3.87 BM

Cr2+ &1 grashid g9 © :

(1) 2.85BM
(2) 440 BM
(3) 5.92 BM
(4) 3.87 BM
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
- 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Which of the following is a coordination compound ?
(1) K MgCl,. 6H,0

(2) Fe SO4(NH,), SO,.6H,0O

(3) KAI (SO,),.12H,0

(4) Ky [Al (GO

Fafafes § 9 &9 91 v S9geEdsH A § 2
(1) KCI MgCl,. 6H,0

(2) Fe SO,(NH,), SO,.6H,0

(3) KAI (SO,),.12H,0

(4) K, [Al (C,0y)s]

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
« 3, Option ID :- 543,

- 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137
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(1) 4
2 6
3) 5
4 2

(1) 4
(2) 6
3 3
(4) 2
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 2, Option ID : -546

The coordination number of cobalt in the complex [Co(en),Br,]|Cl, is : (en =NH,CH,CH,NH,)

e [Co(en),Br,|Cl, H ®aTce i STHEEASH H&A § (en=NH,CH,CH,NH,) :

Question ID:- 138

Which of the following is a hexadentate ligand ?
(1) Ox(oxalate ion, C,0,>7)

(2) CN~™
(3) en(ethylenediamine), NH,CH,CH,NH,)
(4) EDTA

fr=afafaa 9§ 9 39 91 U ga9eee Hodd & 7
(1) Ox(SEE™iE 1, C,0,27)

(2) CN-—
(3) en(ufaelerEmE, NH,CH,CH,NH,)
(4) EDTA

Options:-

.1, Option ID :- 549,
- 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139
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The oxidation state of the central metal atom in the coordination compound [Pt (NH3);Cl] Cl is :

(1) 42
2 +1
3) 0

@ -1

IUHEHATS AT [Pt (NH;),Cl] ClLH 21T 4Tq W] 3l =9 7% §

(1) 2

2 +1

(3)

4 -1
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Given the list of ligands and their corresponding names, choose the pair that does not match.

Ligand Name
(1) OH~™ Hydroxo
(2) CN~ Cyanide
(3) CI™ Chloro
(4 H, Aqua

o ) G S ST G A A e g e A g o T e

Herdd AH
(1) OH- SR
(2) CN-~ HIEAES
(3) CI- FARI
(499 H)O Tea
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141
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The IUPAC name of

Gty s
CH;— (I:H—-CH— C—CH, is
OH OH
(1) 1,2 3,4 - tetramethyl-1, 3-propandiol.
(2) 1,1, 2- timethyl butan -1, 3-diol.
(3) 1,2 - dimethyl pentan - 2, 4-diol.
(4) 2,3 - dimethyl pentan -2, 4-diol.
GHs s
CH, —CH—CH—C—CH, F1 [UPAC 7™ g
OH OH
(1) 1,2 3,4 -2MmIEd - 1, 3 - Yifesid
(2) 1,1,2-TEHaET L - 1,3 - SEE
(3) 1,2 - SEiuuEaded - 2, 4 - I«
(4) 2,3 - cEhuEd T - 2,4 - HE

Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
- 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142
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Consider the following sequence of reactions :

NHZB HO oozt HBF A
rp/Hy , A HCl > B 4 oD
0-5°C

The product 'D' is :

F
F F
(1)
F
F
(2)
Br
NH,
F F
(3)
F
F
Br Br
(4)
Br
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Hfufern & FfafEd $9 w famr Fife .

NHZB o iy BT HBE A
1o/ Hp A HCl 5 4, e -

0-5°C
T9H 3 'D' ¥ :
F
F F
(1)
F
F
(2)
Br
NH,
F F
(3)
F
F
Br Br
(4)
Br
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143

@ Teachingninja.in



Which of these species is aromatic ?

@
o A

S
(2 Q
o
(4) l,,...
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144

In the given molecule :

CH,=C=CH,
I I I
(1) All three carbons are sp hybridized.
(2) C-Iand C-III are sp? hybridized and C-II is sp hybridized.
(3)
(4)  All three carbons are sp? hybridized.

Both C-I and C-III are sp hybridized and C-II sp? hybridized.
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few g o7 &

CH,;=C=CH;,

I 1 I

(1) ?ﬁ:ﬁm:[spﬂﬁﬁﬂﬁl

(2) C-I 3R C-III sp? Hhid € IR C-Il sp Hehlid 2 |
(3) C-I 3R C-III &M sp Tahfid € 3W C-11 sp2 Tehfkd €|
(4) Al e sp? Hehfid

Options:-

.1, Option ID :- 573,
- 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

I
o I BV : - i
In pyridine | , the maximum electron density is found at position :
I \
o
(1) I only
(2) 1IIand IV only
(3) land V only
(4) L IL IV and V only
11
=" NIV .. . <
foirem | ¥ seigel o Sifeay S el 9 9 S E 2
IV
(1) e I
(2) e 11 SR IV
(3) HaAA IRV
(4) Fad LI IV 3RV
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146
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The C-Cl bond distance is shortest in :

AR d
(1)

N

/\lM Cl
(2)

N

PN N Y
(3)

s

Cl
P

4 S

S A A =
(1)

R

/\TM cl
(2)

e VO o

Pl W W Cl
(3)

N

cl
=
(4) =
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147
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Which of these species will produce a precipitate of AgBr most readily when treated with AgNO,
solution ?

=
=

)

\
/

Br

frifera & & for wenfa =t faeet Teee & aafvfiron #3H |® AgBr &1 79419 Tehlel Scael 21 7

<

(1)
Br
//\T/ BT
2
& \\//
,//\|/\\ Br
) R
Br
(4 OCHs
Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148
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Which of the following are structural isomers?

P OH =
‘ CH, Q/ CH,CH=CH-CH, - CH,
O
I 11 111 v
(1) IIand IV only.
(2) L II and IV only.
(3) HI and 1V only.
(4) Tand II only.
feifera § & #F SIS gHeTE 2
— O OH =
4L/CH3 Q/ CH,CH=CH-CH, —-CH,
@]
I Il il v
(1) ohael 11 3R IV
(2) ad 11 3iR IV
(3) ohad III & IV
(4) FFAT ST
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
- 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149
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Which of these reactions will give cis-diols as the product?

H
N CH,
(D) VAN Cold alk.KMnO,
H,C H >
H CH
Seig”
(2) 7 R H,0,,~0OH
H,C H
H
Ne—ec” - (i) BHz
(3) 7 ™~ N =) =
H;C H (i) HyO, /COH
H CH
Nee” ) B
(4) / ~ - 3
H;C H (i) KOH (aq)

Answer Given:-

2, Option ID : -594

H CH
N 3
(D) /N Cold alk.KMnOy
H,C >
H\ CH,
2 =€ H,0,°0H
H,C H s
H CH
Nec”  C () BH;
@ 7 S = o
H,C H (i) H0,/~OH
H CH;
c=C e (1) BI'2
(4) / ~ - >
H,C H (i) KOH (aq)
Options:-
.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,
. 4, Option ID :- 596,

Question ID:- 150
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The spots of separated components in paper chromatography can be made visible by :
(1) Putting the chromatogram under UV light.

(2) Spraying a visualizing agent.

(3) Placing the chromatogram in a jar containing a few crystals of iodine.
(4)

4) By complexing with heavy metal ions.

w3 aviera a9 o gy el & ¥ fifea 0 9 f5g &1 &% 9 gmE & 9% © 2
(1) ST YR § avferd &1 Ta W

(2) TF AvFHHF & fogHE FH W

(3) aviei@ 1 SEEH & FHovsh fohtzel Zokd SR H W T
(4) 9 wifeek STEET 1 Hehal o T

Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

The quantitative estimation of nitrogen by Kjeldahl's method will provide accurate results for :

NH—NH
" @/ \@
O
?
N=N
@) O/ @
H,N N
(3) N
NH_
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Seerd fafy 9 aEdee &1 IRHmTes (AETEE ) TEERTT FH & homsy Eifed § 9 e 9dis

gfaher UTe BRI 2

NH—NH
(1)

O

f

N=N
@ O/ \O

H,N N
= ~N
NH\
(4)
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 1, Option ID : -601

Question ID:- 152
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The most stable conformational isomer of 2-chloroethanol is :

OH

H Cl

H

P8

OH
Cl

H

5,

OH

o> s
a b s

OH
H@ |
&1 g
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2-FARBIAE 1 Hall4eh T SRS 9999 @ ¢
OH
H Cl

(D)
H H

H

OH
Cl
N
H H
OH
H H
(3)
H H
Cl
OH
H
oS
H
H cl'H

Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

Which of these statements is NOT true about the Sy;2 reaction ?
(1) Order of reactivity of alkyl halides is 1° > 2° > 3°,

(2) Reaction rate is dependent on the concentration of the nucleophile.
(3) Protic solvents facilitate the Sy;2 reaction.
(4)  Order of reactivity with different halides is RI > RBr > RCL
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Sy2 Afufsra & =it § feAiferd H | -9 9T w74 €

(1) TUCHEA eAES i Afufsamiiera &1 %9 1° > 2° > 3° Bl 2

(2) erfufshan =l <0 FfrerEEe (AR =i wigdr 9 (e erdt €1
(3) uifes fawas 5,2 sifvfsrn # Tgme 2|

(4) fafims gemee &% Ty eifufmamiierr %1 %9 RI > RBr > RCI §1

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

Consider the following sequence of reactions :

e SbF
+HBr > A 25 B

‘Bl igs

Br

F
Br
F /@)\
F
5 @)\
F
: i:
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sAfufsr & fo=ifea sgsFa W fo=m Fifs |

e SbF
+ HBr > A 3

[ il ”~

-

T B ©:

E
~nj ;_E

Br
(2) /@/k
F

F
(3) O’/J\

F
Jee

F
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155
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In the sequence of reactions given below :

NH,

NaNO H;PO
> A—2»B

+HCl — H0
0—5°C

'‘Blis:

—
ey
S

OH

—
12
S

OH
OH
(3) ©
OH
N = N - CﬁHE

&
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(3)

Options:-

. 2, Option ID

& 8 sifurfresti % stem, stuf

OH
- QL
OH

OH

OH

. 4, Option ID :-
Answer Given:-

NH,

NaNO,

0-5°C

N=N_C6H5

3¢

.1, Option ID :- 617,
- 618,
. 3, Option ID :-

619,

620,
1, Option ID : -617

+HClL

H,;PO
A 3D

> B 4o 3.
L0 HB®:

4

Question ID:- 156

(2) Electrophilic substitution reaction.
(3) Nucleophilic addition reaction.
(4) Nucleophilic substitution reaction.

(2) Tergawett wfaeareq sifufewan
(3) Rt st Srfufma
(4) el giaeere st

The preparation of phenol from chlorobenzene is a/an :
(1) Electrophilic addition reaction.

FASSIE H Hhiel 9IR & & w9 o Feifed § 9 S 9@ Afafmar 2t §
(1) fergmnd drser sifufswman
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Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

Freons are manufactured using :
(1) Sandmeyer's reaction.

(2) Swartz reaction.

(3) Finkelstein reaction.
(4)

4 Gatterman reaction.

W =1 fafmio feifera § 9 fras woasy g g 2

(1) Ferrm sl
(2) TS At

(3) Thehoezred safufshan
(4) T STfufRam
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

The enol form of acetylacetone has :
(1) 9o bonds, 41 bonds, 2 Ione pairs

(2) 120 bonds, 2w bonds, 4 lone pairs
(3) 14 bonds, 27 bonds, 4 lone pairs
(4) 140 bonds, 4w bonds, 2 lone pairs

UferRe THIEH % e w8y | it 8§
(1) 9o AEY, 4 @Y, 2 Thd JTH

(2) 120 Y, 2 3T, 4 Thdd JH

(3) 14¢ 3TEY, 2 WY, 4 Thd I

(4) 1do 3MEY, 4r T, 2 Thel I
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,

@ Teachingninja.in



. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

Which of these alkyl halides will undergo Sy1 reactions most readily ?
(1) CH;—CH,—1I

0
I

(2) CgHs—CHy—O—C—CHj
@)

Il
(3) CGHS_CHZ_O_%_Q

(@)
(@)

I
(4 CgH;—CH,—O—C~— @

freifera § § e Towea saise § 9gd ST § Sy 1 Sl EFft 2
(1) CHz—CH,—1I

O
I

(2) CgH;—CH,—O—C—CHj
O

Il

O
(@)

I
(4) cﬁﬂs—cuz—o—c—Q

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160
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In the following reaction :

Me OH P(s)

Me Br
'P' could be :

(1) Q only

Me OMe

OMe
(2) only
Me
OMe

(3) and both

Me OMe Me

OMe

(4) only

Me  OMe
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Fresifeee sifufeean Me O pe)

Me Br
P& Hehell & :
(1) o Q
Me OMe
OMe
(2) “hed
Me
OMe
o Q i i
Me OMe Me
OMe
(4) Haa
Me OMe
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

Which of these compounds is least acidic ?
(1) Carbolic acid

(2) Oxalic acid
(3) Phthalic acid
(4) Picric acid

Freifra § @ =F @1 9 998 FH STl B e ?

(1) =raifs %

(2) e s

(3) dfas o

(4) Tupfer s
Options:-
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.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Which of these has the shortest C—Cl bond length ?

s
c—cl
CH,

——
(]
—

cl

—_—
2
—

CH,CI

Q0

NO,
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Tretifera § & fored C —C1 ey &)« Seqdd 3l & ?

ik
? ~Cl
(1) CH,
cl
CH,Cl

(4) ;

NO,

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163
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The dehydration product 'X' of the given compound

CH, H
IX)
H OH —H,0
is:
CH,
I
CH,
CH,
(2)
H
CH,
CH
(3) s G,
H

CH,
CH,

-

== feu o =ifrs 1 Feieis 3@R X #9082

CH, H
H OH THOo >
CH,
CH,
G
CH3

CH,

E
b

CH,
H

CH,

sl

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,
. 4, Option ID :- 652,
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Answer Given:- 1, Option ID : -649

Question ID:- 164

The product of the acid catalysed hydration of 2-phenyl propene is :
(1) 3-phenyl propan-2-ol

(2) 2-phenyl propan-2-ol

(3) 1-phenyl propan-2-ol

(4

2-phenyl propan-1-ol

2. TFARe dH & 377 Seifld Soars & 3091 ©

(1) 3- e 9riH -2- 3iE
(2) 2- TrEe WroH -2- 3i|
(3) 1- ToTSet 99T -2- &7
(4) 2- ToFmEe e -1- 37

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

- 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Which of the following compounds will not undergo nucleophilic attack by a hydroxyl group ?
(1) Ethyl benzoate

(2) Diethyl ether

(3) Acetonitrile
(4)

4 Benzamide

Frifera | 9 for il W Teiioaa a9 1 AierTt seemo ==l 2 2

(1) 3YEa S

(2) SE-3UEH §;W

(3) TUHEEEZEA

(4) SSHES
Options:-

.1, Option ID :- 657,
- 2, Option ID :- 658,
. 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166
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Which of the following is the strongest base ?

o®©

—
(=1
—

NO,

—
(e
—

OCH,4
o©
(3)
CHS
o©
(4)
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Treifera § 9 % Ho8 Yoie gR 22

O@
(1)

NO,

O@
(2)

OCH,

o
(3)

CH,

o
(4)

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Which of the these reactions is used to step up the number of carbons in the chain ?

(1) Hofmann-Bromamide reaction.

(2) Hydroboration-oxidation.
(3) Stephen reaction.
(4) Gatterman- Koch reaction.
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gEe § e F1 de 9gm § i § 9 9 9@ eifafen v ad ® 2

(1) BFEE - FiHEEe AR
(2) TEEEERE - ST

(3) e sifufma

(4) e wig AflRa
Options:-

.1, Option ID :- 665,
- 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Consider the following reaction :

@)
[ H, P
CH,—C-Cl ——>
3 Pd-BaSO,
P is:
(1) CH,CH,4
(2) CH,CH,OH
(3) CH,CHO
(4) CH,CH,CI
Freifera efafsran W faar #ifaT .
O
Il HZ J'PJ'
CH,—C—-Cl ———
3 Pd-BaSO,
Ef?lﬁ PR
(1) CH,CH,4
(2) CH,CH,OH
(3) CH,CHO
(4) CH,CH,CI
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169
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The reaction of benzaldehyde with semicarbazide hydrochloride is an example of :
(1) Nucleophilic substitution reaction.

2)  Nucleophilic addition reaction.

3) Elimination reaction.
)

(
(
(4) Electrophilic addition followed by elimination.

HiFEES SESIFARIEE & Ty dsicease & sAfufshan f=ifea o & faeh e & ?
(1) et gfaeeras sfafean

(2) AHERTRT st stfforan

(3) FroastEs (fereio) sifwfsean

(4) YRR FASiE (HaeT) & o8 e

Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

In the given sequence of reactions :

O
I

Mg/Ether i CH; — C— OCH,CHj,

C,HBr B
'B'is
Cl)H
CH,CH,
CI)H
CH,CH,
OIH
@ CH—C—CH,
CH,CH,
(|)H
(4 CHz— (l: — OCH,CH;,4
CH,CH,
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freifera aafafsran & %9 o, sl C,HzBr Mg/%R

Y

H'B'®:
OH
(1) CHy— C: — CH,CH,
CH,CH,4
OH
(2) CHyCH,— (:: —CH,CH,4
CH,CH;,
(?I—I
3 CH— (I: —CHy
CH,CH,4
(‘_')H
(4 CH;— (I: — OCH,CH;
CH,CH;
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Assertion (A) : Aromatic aldehydes do not respond to Fehling's reagent test.
Reason (R) : Aromatic aldehydes are not easily oxidized.

(1) (A) and (R) both are correct and (R) is the correct explaination of (A).
(2) (A) and (R) both are correct but (R) is not the correct explaination of (A).
(3)  (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.

stfienRer (A) :  WHfes tfegere Tidn sfverds whem w gfafka 78 #d )
THRT (R) : wWrifes tfeesre 1 A § ST T8 B g

(1) (A) 3T (R) &H1 |l € 377 (R) (A) &1 &1 A=A B |

(2) (A) 3R (R) a1 FE § iR (R) (A) 1 9E =20 7@ 2

(3) (A) Tl € g (R) TTed B

(4) (A) TTd € foheg (R) WETE

Options:-
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.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172

The number of ether isomers possible for a compound with molecular formula C;H;,O would be :
(1) 2

2 3
3) 4
4 5

Tfvees g3 C,H,,O amel A1k | fofas Ser 81 &t HuEa @

1) 2
2) 3
(3) 4
(4 5

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

An organic compound has the molecular formula C;H;{N. The number of isomers which will give
a positive carbylamine test would be :

1)
2)
3)
)

U1 = W

(
(
(

Tereit shmeifer Hifer 1 anfvees T3 C,H (N €, 9 Faigel THR whem # fHa Smeee (emeans) o
HRRTHR TL&T0T 1) 2

(1) 2
(2) 3
(3) 4
(4 5
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
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. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174
Consider the following reaction :
SO,C1
A+ —— N - alkyl benzene sulphonamide

'A" could be :

Aniline

N.N-diethyl amine
N-Methyl methanamine

b =
o

= W
T ™

Methanamine

freifera sfufsren W fa=am #ifS .
S0,Cl
A+ — % N - UehIgdl S GehiAHES

7@l A FrifeRa | | o S meEa €2
(1) TAiAH

(2) N.N - S[E-34Ed THET

(3) N - fRem® fagammes

(4) ReATEEA

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175
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Which of these amines can be prepared by Gabriel phthalimide synthesis ?

CH,NH,
(1) @/

NH,
. ©F

NHCH,
. ©F

(lﬂs

N — CH,
(4)

fifouer Semes dyery gr1 frifera & § 9 91 woE IR e s g € 2

CH,NH,
(1)
NH,
NGO
NHCH,
@
s
N—CH,
@

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176
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Maltose has linkage between :

(1) G of o-Glucose and C, of B-Glucose.
(2) C; of B-Glucose and C, of B-Glucose.
(3) C of o-Glucose and C, of a-Glucose.
(4) C, of a-Glucose and C, of B-Glucose.

Ja- 9 (Tieere) H freifera § o me geema 2 32
(1) o—TeHS & C, HX BT & C,
(2) B-THIS FI C; SR B-TTHIS 1 Cy
(3) a7 F C; 3 a—TGHN FH Cy
(4) o7 H1 C; X B-IRN I C,

Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Which of these is a constituent of the cell wall of plant cells ?
(1) Nucleotides

(2) Proteins
(3) Cellulose
(4) Starch

Treifera o 9 == uew HifvrEed w1 Fifve fas o s 9 g2

(1) —fFsieEs

(2) 9rEEH

(3) Hege™

(4 =wHE
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 3, Option ID : -707

Question ID:- 178
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Which of these amino acids does not have any chiral centres ?

(1) Lysine
(2) Cysteine
(3) Glycine
(4) Tyrosine

Fr=ifera § 9 form THET ot § FETE e TR B § 2

(1) <EEd
(2) fowrEA
(3) TemsfEa
(4) erEUfEE
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Which is NOT an essential amino acid ?
(1) Aspartic acid
Lysine

4 Methionine

(2
(3) Arginine
(4)

Tr=ifera | 9 = e waEa o =748 ¢
(1) = s

(2) @mEfEa

(3) 3w

(4) fHfeRAE
Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180
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RNA does not contain :

(1) Adenine
(2) Guanine
(3) Uracil

(4) Thymine

AT o (R, T, U.) H freifea § § e s T den e ?

(1) ufe
(2) TEEEA
(3) &
(4) oTEHHA
Options:-

.1, Option ID :- 717,
- 2, Option ID :- 718,
« 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 4, Option ID : -720

Print ResponseSheet
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